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EUREKA Answer Key

MATH Modeling Multiplication, Division, and Multi-Step Word Problems with the Tape Diagram: Grades 3—5

Problem Set 1

1. Daniel’s fish tank holds 24 liters of water. Ie uses a 4-liter bucket to fill the tank. How many buckets of

water are needed to fill the tank? (G3 M2 Lo) e e
i Equal Groups,

Number of Groups Unknown

M i
/ —— 2.""":"‘1: L 'G o T
e Dcume\ M-:eb.s G b‘*"\cﬁso woos

}\p\_o (\’\o-(\nq.‘i'{

2. Mr. Doyle shares 1 roll of bulletin board paper equally with 8 teachers. The total length of the roll is
72 meters. How much bulletin board paper does each teacher get? (G3 M3 Li5)

: Equal Groups, i
i Group Size Unknown |
\ i \ \ Ead:\-\m&\ef ois Q enekers of
i/
! bustedin \:;o%ré QopRt
3. A guitar has 6 strings. How many strings are there on 3 guitars? (G3 M1 L10) e
: Equal Groups,

Unknown Product

? 2% 6219 | UnlaownProduct
\ .
G Lfa \(o \ “Tree ace \B -srfxt%s on D &w\avs.

4. Every day at the bagel factory, Cyndi makes 5 different kinds of bagels. If she makes 144 of each kind, what
is the total number of bagels that she makes? (G4 M3 L8)

Equal Groups,
% } L"L-é -------- Unknown Product

/B \ 6"”443720 7232:_‘0
{14 iwret] e | 11 | 144 |

Copndh erolkes a Yokl of 720 bagehs-
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EUREKA Answer Key
MATH

Modeling Multiplication, Division, and Multi-Step Word Problems with the Tape Diagram: Grades 3—5

Measurement and Partitive Division with Fractional Divisors

1. Anouk has 3 pounds of ground beef. She uses it all to make - 5 bound patties. How many patties does Anouk

make?

Equal Groups,
3 ;

\ Number of Groups Unknown

ErA by
\7 &m%s / Boack Mokes Y2 ‘xd*‘r‘.e‘a.

EZ'I

-—-

2. Anouk has 3 pounds of ground beef, which is iof what she needs. How many pounds of ground beef does
Anouk need?

H Equal Groups,
0 {  Group Size Unknown

m_\ Broouk needs 12 pousds of &‘O““’a et

Lusirs D pounds

Y adyss 1L QoumS

3. Jocelyn plans to run 2 miles while her children play. Each loop around the playground is = m]le How many
loops will Jocelyn run in order to meet her goal?

Equal Groups,

. Number of Groups Unlmown
- J_ _
/ 2 - 5 - Q)

| e
Lun WO Tun b \C’D@s no
Yoo m3%5~

4. Jocelyn runs for 2 miles and completes é of the race. How long is the entire race?

/ J S5 W 8 Equal Groups,

-3 Group Size Unknown

—Tie entive Cage I G sles \mﬁ‘

| uenk = L tmieS
Py ueirD = o mes
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EUREKA Answer Key
MATH

Modeling Multiplication, Division, and Multi-Step Word Problems with the Tape Diagram: Grades 3—5

Egual Groups,
Problem Set 2A H Unknown Product

1. Maria needs yard of fabric for each costume. How many yards of fabric does she need for 6 costumes?

G4MsL
.(4 5L35) " (o = s B
o ., \e s = 2237
3 i /5\ Mavie. needs
'5’ ’ 53 ’3%‘ \{aris £ PnLh‘c_.
5 S

2. Mis. Smith bought some orange juice. Each member of her family drank% cup for breakfast. There are

5 people in her family. How many cups of orange juice did they drink? (G4 M5 L35)

] \ 5x %= 5% :urmas

= {0 Ymimds = 3“5

/\

"Y\% drone 3'\3 CpS o‘é‘ CND»NGQOu‘CQ

3, The baker needs % cup of raisins to make a batch of cookies. How many cups of raisins are needed for
7 batches of cookies? (G4 M5 L37)

1

ﬁ : E 7 xF= 7x6e~6\\>«\5= 56596\:?_
=z B2 = %

%‘3
'—I%i Cugs & coiming ase oeeted 3{ \_3«

4. For one dance costume, Saisha needs 4-25 feet of ribbon. How much ribbon does she need for 5 identical

costumes? (G4 Mz L37) N
? gxqgg:(Gx“D"'(gK"i
/__\/g____\‘ 2 20 * l‘T
. 1
2 . 20 ¥3% Smfs‘v\a e eds
P oo ] o (et -

L ep of b,
- 233 233 £ or ribven

5. Sara’s streetis 2 % miles long. She ran the length of the street 6 times, How far did she run? (G4 M5 L37)

o ) Cx2B" [c,w.\a- (&;x%}
v X
1212121212 B e Yo /\o\}
oo 2
o Con V315 enles. o 71
= 2\h
= 3%
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EUREKA Answer Key
MATH

Modeling Muitiplication, Division, and Multi-Step Word Problems with the Tape Diagram: Grades 3—5

Fraction of a Set:
Equal Groups,
Group Size Unknown, and
Problem Set 2B UI:-nknown Product

1. Sara just turned 18 years old. She spent g of her life living in Rochester, NY. How many years did Sara live

in Rochester? (G5 M4 L6) 3
/'——\’Mﬂ ; - . .
‘ A Qunits ‘? 2 Coava \Wet{ g
j lnit =199 = Rochesker LHe ¥ \Lars,
R Qunits = Hx2 =%
&

2. There are 32 students in a class. Of the class, g of the students bring their own lunches. How many students
bring their lunches? (G5 M4 L6)
3 -~ —_
32 % s =32 ok 52212
LNNVTD -
/ \."\* l U\.’(\.\'* = b‘
\ \ _\ 2 s A% H=YL

“"“‘t_’)‘““"h 12 Srudeads \ocmS Prere Lunches .

3. Astraight angle is split into two smaller angles as shown. The smaller angle’s measure is % that of the
straight angle. What is the value of angle a? (G5 M4 L7)

e {

& g angle G umts =\30° [ )
LEES NE aweew
5 Harh \50 -
T The Value of @.,v*a\ﬂ. a 35 \20. - .“::Mﬁ,

L

4. Abbie spent g of her money and saved the rest. If she spent $45, how much money did she have at first?
(G5 M4 L7)

Ws=49H
/ﬁ?e'“*\;qm‘\'\ Bun g
AUl EEER \m::s:;l
\\*%’—/ L un
Abisre had 72 o Kot
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EUREKA Answer Key

MATH Modeling Multiplication, Division, and Multi-Step Word Problems with the Tape Diagram: Grades 3—5

Problem Set 2C

: 5 _L Equal Groups, i
. - S Numbcrof Groups Unkm)wn
_ D~ S e T N A
[N T oy ! \ A 1y 4 R
k [ : \ t ¥ A N i
"I : Pk P P .
HE P by } P P Tki’n Can Cuf 20 LOGR‘:}S_

2. Jenny buys 2 pounds of pecans. If she puts a gpound in each bag, how many bags can she make? (G5 M4 L25)

/ \ 2::—% =4 gNumbegg}lglga;gpéhknomi
B S

Pow mzms'\is?

9. Four baby socks can be made from % skein of yarn. How many baby socks can be made from a whole skein?

Equal Groups,
Group Size Unknown

T S

A Y23 2 (2 12 sscks can oo mode
{ 4 : [ -anm 1. w‘r\cle Skc:h,

Equal Groups,
Group Size Unknown

/’/?ﬁ““\ RS ;| GroupSize Unknomn |
ks \ \ \ J b “The Qo.\\ holds L ng\\o‘\s

Yow
ol \ =3
-"-v-.\

boart O unis = V2
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EUREMA AnswerKey

MATH Maodcling Multiplication, Division, and Multi-Step Word Problems with the Tape Diagram: Grades 3-5
Equal Groups,
Problem Set 2D , Group Size Unknown

1. If Melanie pours %Iiter of water into 4 cups, putting an equal amount in each, how many liters of water will
be in each bottle? (G5 M4 L26)

2. Mrs, Appler used % gallon of olive oil to make 8 identical batches of salad dressing. How many gallons of oil
did she use in each batch of salad dressing? (G5 M4 1L.26)

] \&a\\oﬂ\ L:_%;J-
T Yy 27w

N gpton” AW
= fHnheenths ™ B
= | 9ixreenth "
Mss. Rroplec use,c!'l‘z, 6&.\\0&\ ofF o) A eatih adch

<aled A(&ﬁ&m%-

3. The perimeter of a square is _15: meter. Find the length of each side in meters. (G5 M4 L27)

| &M 5 Y
TR I > Y huenkeths <Y
Loty I T 1 1 3349255 L | heniien
q\\me:\ef — -
-T\\Q,\e i; O{.wﬁ“{& o mnedess v

-

%{Q m&\‘& A

STOP
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EUREKA Answer Key

MATH Modeling Multiplication, Division, and Multi-Step Word Problems with the Tape Diagram: Grades 3—5

Problem Set 3

1. A narrow rectangular banner is 5 inches wide. It is 6 times as long as it is wide. How long is the rectangular
banner? (adapted from G4 M3 L2) e

Compare,
A > 1, Larger Unknown

width | B L% D230 e,
g L LU L | ] e cechanquiac basees

——— 5 JON hes -\.bﬂg'

2. YiTing weighs 8.3 kg Her older brother is 4 times as heavy as Yi Ting. How much more does her older
blOthBl WE!lgh in kllogramsp (G5 Ml L12) P e e

Compare,
A > 1, Larger Unknown

x 2

' \ U«G’f = %,5 -0 a

o\der \DW"’!’?«“' mexa\'\s

‘ocoPres N5 oS

3. Jamie drank 4 times as much juice as Brodie. Jamie drank 280 milliliters of juice. How much juice did
Brodie drink? (G4 M3 L26) e

‘zgo H Compare, i
{ A>1,8Smaller Unknown

“Josre L \ m \ etk =70
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EUREKA Answer Key
MATH

Modeling Multiplication, Division, and Mulli-Step Word Problems with the Tape Diagram: Grades 3—5

4. Atoy airplane costs $4.84. It costs 4 times as much as a toy car. What is the total cost of the airplane and
the car? (G5 M1 L13)

1.2\ A> 1, Sl Unknown
T ou ’ i
mme \, \ l ‘\7 \w\;\.zs\.z\ 'ﬂ'ﬁo%

L E) L\‘“\\-}'s: 5 Q.OS -“%q
Cox D / e

)
e oo ot of e Ct‘\fp\m\@_ and (ax
% $6.05.

5. Tyler planted potatoes, oats, and corn. He planted 23 acres of potatoes. He planted 3 times as many acres

of oats as potatoes, and he planted 4 times as many acres of corn as oats. How many acres did Tyler plant
with potatoes, oats, and corn in all? (G4 M3 L14)

: : [ : * xz %_)) KGJ 1@2 Compare,
?0\'“‘“: @ \C\ — ©9 > ?_.676 + 276 A > 1, Larger Unknown
. 309
Cose | \ i \ \ /

-Tb\iec Jasked 6B actes In Al

6. Alaska has a land area of about 1,700,000 square kilometers. Florida has a land area % the size of Alaska,
What is the land area of Florida? (G5 M1 L2) T s s

- Compare,
\WJe0 ‘OQO\ \,O U_x\\\"% =\ ‘7 (ol 1000 A < 1, Smaller Unknown

GITTIT L VY] | uatk = 170,000

Ty \ond Oxen. of Ploria 36 170 000 SQuUare i \oweess.

7. Canada has a population that is about % as large as the United States. If Canada’s population is about 32
million, about how many people live in the United States? (G5 M1 L)

ki - - A\ Compare,
/ \ \ (_L'(\\"\' - sl m\\\\O“S i A< 1,larger Unknown

AR 10 uai¥s = 1O S- omilions
) = A0 I Wiond
1 .
n?\:\\:csn e ‘Ooo\ooo

27,6 ton PeoQe
ﬁbm}\\—we I e \l,n\\'\'QA_ 6\&\'&3~
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EUREKA Answer Key

MATH Modeling Muttiplication, Division, and Multi-Step Word Problems with the Tape Diagram: Grades 3—5

GRADE 3

1. Miss Lianto orders 4 packs of 7 markers. After passing out 1 marker to each student in her class, she has
6 left. How many students are in Miss Lianto’s class? (G3 M1 L21}

T Y1228

There are 27 shdends
in Miss Liantos class.

e 2% -6L=12
Vv,
T
studends oyer

2. Annabuys 24 seeds and plants 3 in each pot. She has 5 pots. How many more pots does Anna need to plant
all of her seeds? (G3 M1 Lz1)

3 ’:\‘5\3\3 5x3=18 Avrng. needs S wore
24 —~15=9  pots for herseeds.

N /

How waany
wieve. pols? q-:- ¥ 2

3. Marian pours a full container of water equally into buckets. Each bucket has a capacity of 4 liters. After
filling 3 buckets, she still has 2 liters left in her container. What is the capacity of her container?
(G3z M2 Li1)

| qef e |z 3x4L=12L Marians contniner has
. |2L+2L= 4L & capacihy of 14 litrs.

4. Richard has 2 cartons with 6 eggs in each. As he opens the cartons, he drops 2 eggs. How many unbroken
eggs does Richard have left? (G3 M3 1.8)

b b 2x{=12
S~ Richard has 10 unbroken eqgs.
7 7 12-2= 1D
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EUREKA Answer Key
MATH

Modeling Multiplication, Division, and Multi-Step Word Problems with the Tape Diagram: Grades 3—5

5. Leo earns $8 each week for doing chores. After 7 weeks, he buys a gift and has $38 left. How much money
does he spend on the gift? (G3 M3 L11) _

850~ éﬁ."

$g\ I $3g | -és Leo SPQ,HCIS $|8
S‘ " over giﬁ
7%=k

6. Cora weighs 4 new, identical pencils and a ruler, The total weight of these items is 55 grams. She weighs the
ruler by itself, and it weighs 19 grams. How much does each pencil weigh? (G3 M3 L18)

/553 _
E ? 599719% 363 Eadn pencil weighs

| Con - q avrams.
N Blog + 4 =9 9
\pencf\ls/ m,\or/ J 3

7. Joe has $173 in the bank. He earns the same amount of money each week for 7 weeks and puts this money
in the bank. Now, Joe has $208 in the bank. How much money does Joe earn each week? (G3 M3 L18)

3 {1
it $ 203 $35= 7= 85
3173 J } ~§ 113

Y] $ 35 Joe earns ¥5 each week.
?

8. Julio spends 29 minutes doing his spelling homework. He then completes each math problem in 4 minutes.
There are 7 math problems. How many minutes does Julio spend on his homework in all? (Ga M3 Li8)

9 414 x4 =18 28
e + 29 Ju.lio SP{_mLs 57 mihu:!ts
\7 / 57 on homewsrk.
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EUREKA Answer Key

MATH Modeling Muliiplieation, Division, and Multi-Step Word Problems with the Tape Diagram: Grades 3—5

9. Tanner’s beaker had 45 milliliters of water in it at first. After each of his friends poured in 8 milliliters, the
beaker contained 93 milliliters. How many friends poured water into Tanner’s beaker? (G3 M3 L18)

as fe|. | 45 UB*E=b

How tany Q7

lo friends po ored water into

Tanners beaker.

10. At the city 200, they see 17 young bats and 19 adult bats. The bats are placed equally into 4 areas. How
many bats are in each area? (G3 M7 L1)

L)ﬂ \q ]

~ +14 |
7 A There are Q bats in each area.,
? == 9

11. Kami scored a total of 21 points during her basketball game. She made 6 two-point shots, and the rest were
three-point shots. How many three-point shots did Kami make? (G3 M7 L2)

Gxl =2 om: wade 2
212 z\z (2 1]3 i -1229 C"'."?ﬁ? +hree-pain+$ko+s-
\/
How wany
37

12. Laura cuts 64 inches of ribbon into two parts and gives her mom one part. Laura’s part is 28 inches long.
Her mom cuts her ribbon into 6 equal pieces. How long is one of her mom’s pieces of ribbon? (G3 M7 L3)

/(.o‘-\ in S~ Gin —29m= 3 in One pitet of her wom$s
? . . .

H %W\ = (.O't\f\ r(bbovt is {0 inches.
Nogin” ™~

Lawnra’s mom s
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ﬂlREKA Answer Key

TH Modeling Multiplication, Division, and Multi-Step Word Problems with the Tape Diagram; Grades 3—5

GRADE 4

1. Arestaurant sells 1,725 pounds of spaghetti and 925 pounds of linguini every month. After 9 months, how
many pounds of pasta does the restaurant sell? (G4 M3 Li11)

V128 | 925 qug
:‘*{;;; The restamrant sells 23,850
Z 5o ' pounds of pasha affer q wonths.
z,us"g -
s 7223850

2. Audrey and her sister found 9 dimes and 8 pennies. If they share the money equally, how much money will
each sister get? (G4 M3 L17)

/,...._-——-o\iw\es ——— ~Pwnies
- qx1o=%0
Yloto wlie jlelies {iv \osollttlllul Q c‘\O-t%’-Q%

g2x \
Eacl sister

- Y- 49 .49
| 1%

-18
o

3. There are twice as many cows as goats on a farm. All the cows and goats have a total of 1,116 legs. How
many goats are there? (G4 M2a Lag)

372 93  6:93
Cows \ 3. 4 3:2
L legs :.1 :3—"?_ Theve are 93 5aafs.
goats ... / A 12
~ - o °
6:#0»*"345? —
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EUREKA Answer Key

MATH Modeling Multiplication, Division, and Multi-Step Word Problems with the Tape Diagram: Grades 3—5

4. Every day, Sarah drives the same distance to work and back home. If Sarah drove 1,005 miles in 5 days,
how far did Sarah drive in 3 days? (G4 M3 L31)

1,605 wiles Z0l
— \ 5\ 005 2ol Sarah drives 602
o x 3 miles n 3 days.
~ A/ _‘3;’ ko3
-og c‘-:. GODmiles
o

5. Sarah read for 1 hour 18 minutes each day for 6 days. If she took 3 minutes to read each page, how many
pages did she read in 6 days? (G4 M7 L11)

e

{ hr lam‘m s 78 wmin
Sovah read (96 P29es

18 ,
\?/ _)Sfll 50 in b deys.
He8 3468
3 ... =3 p=15e
T~y — zIs,
18
hrzes; ':'Lg

6. Beth Ann practiced piano for 1 hour 5 minutes each day for 1 week. She had 5 songs to practice and spent
the same amount of time practicing each song. How long did she practice each song during the week?
(G4 M6 L11)

- | hr 5m‘m\ \ he (40w

T v Fmin = LS min
N

|3
5&@75
5
<= S mwmin :{_‘_5'_

[ +]

F’% \ \ \ P=7x13min 13 Beth Amn practices each

\9 — P2 U man Zel 509 For al minndes
al tach week.
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EUREKA Answer Key
MATH'

Modeling Multiplication, Division, and Multi-Step Word Problems with the Tape Diageam: Grades 35

7. A piece of yellow yarn was 230 inches long. After 90 inches had been cut from it, the piece of yellow yarn
was twice as long as a piece of blue yarn. At first, how much longer was the yellow yarn than the blue yarn?

(G4 M1 L17)
Yellow \ Bgo H0+Z= 70 ‘1?39 The (jdlsw yan was 1o
D ; : - 4o -~ 70 inches !ongw +Hhan Hu
Blue S 140 6o b jarn o Frsh

T~ Y=lto
Y

8. The small copier makes 437 copies each day. The large copier makes 4 times as many copies each day. How
many copies does the large copier make each week? (G4 M1 L12)

48
I, T4e
swadt | 497 Y ]« 71 ceizese
X 4 L T
lovye s T~ 12236

e —— ?/ The. (curﬁl Capi.(r wAade (2‘ 2% a;,P'\e;

cach week .

9. Sarah bought a shirt on sale for $35. The original price of the shirt was 3 times that amount. Sarah also

bought a pair of shoes on sale for $28. The original price of the shoes was 5 times that amount. Together,
how much money did the shirt and shoes cost before they went on sale? (G4 M3 L13)

shirt | %% J \ Xag 28 105  The shoes and shirt
/C

5
s L% o5t $2us bebore
M° 245 Hhe sale

shoes { 13

C= 5245

10. In one month, Charlie read 814 pages. In the same month, his mom read 4 times as many pages as Charlie,

and that was 143 pages more than Charlie’s dad read. What was the total number of pages read by Charlie
and his parents? (Gq M3 L13)

PN
Charhf M 37250 3'2% k
Mom D 28 - tl 43 3, (13 Charlie and his ?avem‘s

aol P 3250 3,113 +, 84 read o tolal of 118%pages.
e 7% ETT

143 7= 71,183
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EUREKA Answer Key
MATH'

Modeling Multiplieation, Division, and Multi-Step Word Problems with the Tape Diagram: Grades 35

11. Natasha’s sculpture was 5 % inches tall. Maya’s was 4 times as tall. How much shorter was Natasha’s
sculpture than Maya’s? (G4 M5 1.39)

S

' /\\ L‘xs

N 5%

X .4 !-E -
= (4 5)+(4 Z) 20%-52=- 52

" =204+
M Hp oz \5.3;
- ‘Z_D E
- Nafashas sculptvre is
e' \
o5 1 o wa‘? 15 ;%, inches Shovter than
4, &% Maya sculptre.
) "“\)(

12. A seamstress needs 1- yards of fabric to make a child’s dress. She needs 3 times as much fabric to make a
woman’s dress, How many yards of fabric does she need for both dr esses? (G4 Ms Lag)

¢ E 3xlg-(5x1)+(3x—) L}g+, l?.
W = Bry =5
=47 Febz

of

l

| Jootd 2 She needs 63 Yavds

fr Hw anit? ”P of fabric for both dressgs,

Copyright © 2018 Great Minds® greatminds.org
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EUREKA Answer Key
MATH Modeling Multiplication, Division, and Multi-Siep Word Problems with the Tape Diagram: Grades 3—5
GRADE 5

Esperanza usually buys avocados for $0.94 apiece. During a sale, she gets 5 avocados for $4.10. How much

1.
money did she save per avocado? (G5 M1 L5)

D82
0.
sale | \ ) 5[%4m fo ;;f Esperania. saves .12
i L) per avocado .
teanlar 3 1o $0.12
J ' 2 mba
S5 ¢ zo.lz

Mrs. Zamir wants to buy 8 protractors and some erasers for her classroom. She has $30. If protractors cost
$2.65 each, how much will Mrs. Zamir have left to buy erasers? (G5 M1 Li1)

/ $3=‘D 26,
\ $2.65 35151.":0 Mrs. Zamir has

2.

L L .8
—d-4—- -$21 20 $2 9% ICF"'{'D
v —— gy 20 8.3
42.6% ¢ $2 310 b"j Lrasers
f’m"mchrs'“_) Serasers” e~ $3.30

3. Tim is painting his storage shed. He buys 4 gallons of white paint and 3 gallons of blue paint. Each gallon
of white paint costs $15.72, and each gallon of blue paint is $21.87. How much will Tim spend in all on

paint? (G5 M1 L12)

white
| 5,72 $2).87 462.3%
$|\5.§2 P _;;g_m_i X 3 + 469 (o) Ps $“8.‘-H
- $0288 $6561 $129.49
blue J
% Tim speods 549 on paind.
$21.97
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EUREKA Answer Key
MATH

Modeling Multiplication, Division, and Mulii-Step Word Problems with the Tape Diagram: Grades 3—5

4. A soccer coach spent $162 dollars on 24 pairs of socks for his players. How much did five pairs of socks
cost? (G5 M2 La7)

2Y pair
- ‘SI:;_A 5\

$ 6.75 %
24[%12.00 613 Five onirs of
144 LI
\S/ - ,___g . 53315 socls cost
o8 ¥23.75.

e————

lzo s=9$2275
-120
(o]

5. Avaissaving for a new computer that costs $1,218, She has alveady saved half of the money. Ava earns
$14.00 per hour. How many hours must Ava work in order to save the rest of the money? (G5 Mz L28)

$1,218
" T —— $ 609 43.5 he 435
2[*lls o
M ... A2 ~56
“ot Yo Ava must werk 435
SAVPJ \ / - b —
muni‘a.;., 18 -ﬂrﬁo hovrs fo save the rest
hoyys ! ~% '_2% O'F the m‘mgd.

6. Baa Baa, the black sheep, had 7 pounds of wool. If he separated the waool equally into 3 bags, how much
wool would be in 2 bags? (G5 M4 L4)

P

Bunts = 7 2
Lunit = 7+%= % pounds wosl are
\w/ Zoanitss 25 7< % m 2 bajs,
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EUREKA Answer Key

MATH Modeling Mutltiplication, Division, and Multi-Step Word Problems with the Tape Diagram: Grades 3—5

7. Mr. Chan made 252 cookies for the Annual Fifth Grade Class Bake Sale. They sold % of them, and % of the
remaining cookies were given to P.T.A. members. Mr, Chan allowed the 12 student helpers to divide the
cookies that were left equally. How many cookies will each student get? (Gs M4 Lit)

- 252\

L s 182 Y ynifs-252
} [ unit = 254~ Eoch student
'’ =0? = b2 aets 2% cookits.
§ohud: B8 quits b3
w1 it = 6359
Students - 378 wit = b
7 °
=7 Lunds 2 bx1
42
Rt B ot 42
236 funit = 2312
. ba “ . 4z
:5-‘7-’ T

A
=503

8. The Booster Club sells 240 cheeseburgers. % of the cheeseburgers had pickles, % of the remaining burgers
had onions, and the rest had tomato. How many cheeseburgers had tomato? (G5 M4 L16)

/2'40\

=HEN
S

fematoes

~

p4

pnians

"ianih*l"‘o 1.2 3
4o 2 27%4° %
| anid = -:? = O 2’%
3 uniks = 180 2 x40 = 2’_‘5’_'..
190+2= A0 =90
T=90 W cheeseburgers had fomatoes.

9. Farmer Green picked 20 carrots. He cooked 5 of them and then gave % of the remaining carrots to his
rabbits. How many carrots did the rabbits get? (Gs M4 L32)

R~

| 5

C;kej \e,/

rabbils

20-5= |5

Z _

—gOFIS'— 10
g=10

The vabhls 301’ [0 cavrots.
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EUREKA Answer Key
MATH

Modeling Multiplication, Division, and Multi-Step Word Problems with the Tape Diagram: Grades 3—5

10. Avais 23 em taller than Olivia, and Olivia is half the height of Lucas. If Lucas is 1.78 m tall, how tall are Ava
and Olivia? Express their heights in centimeters. (G5 M1 116)

2 N
:E 178 ~2= %9 Ohivia. 15 B9 em tall,
P
", | gar213e=1l2 Aa 1s |1Zom or L1Zm

4ail.

L

I8

11, Jay needs 19 quarts more paint for the outside of his barn than for the inside. If he uses 107 quarts in all,
how many gallons of paint will be used to paint the inside of the barn? (G5 M2 L15)

‘ a, .
oudsde (1] 163 ggezeud

} _19
- L P07 e gt = 4 x (1)
nside | | '

9 l L x Grja')

\

= iﬂﬁa,l
-
i\ yllons 0‘?70-"!\* are vsed to = Ilgai
painf the inside of the bain. 9= “3"‘"

12. Jasmine took% as much time to take a math test as Paula, If Paula took 2 hours to take the test, how long
did it take Jasmine to take the test? Express your answer in minutes. (G5 M4 L23)

2hr
TN 2 - 4
Pada [ 3% Lhe = ghe
Jasmne , :
" = /] %\r\f = %’ XQ hf) Jasmmé ‘Hﬂ fSh(q(

’ - %x (6o wir) the fest m & pinufes.

-

24o

o S min

= €O win
ﬂ:gom'lh

Copyright © 2018 Great Minds® greatminds.org 21







